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Qu numbers 1 to 1 each.
799 1 F 791 12 Ter< z 1

X <] I s 2 ; =17 : 1

. IfLCM. (91,26)=182 | 1
am & vl @ 5)=182, csfed siALE (91, 26

qw &, AL o
(@) 13

(b) 26
(c) 7
(d) 9

2. According to Euclid’s Division Lemma, given two positive integers ‘a’ and
‘I, there exist unique inlegers ‘g’ and ‘r’ such that — |

2egsa freige sl T0e ol @ge wLe A ‘@ S b A 9 56
Hhaer wes Wl g’ W ¢ e 1te —

Tefarcem oo g @EAm 1 g ge gds WA ‘@ 932 D TSl AETE 9FHA
7t wfEsm w2e AR @ GaR 7 ARG (A —

(@} a=bg+r, O<r<b

(b) a=bgq+r, 0=<r<b

(c) a=Dbgtr, 0<r<b

(dj a=bg+r, O0<r<b
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3., I the graph of the polynomial y= f(x) intersects X-axis at lWo points,
then number of zeros of flx) is — 1
i!ﬁ'—' Y= f(_,\f) =1 WF@H ETRCiTH X-5r% ET?'I 1%1?-1_{, (el 7d (Cerd I[I);g %7174
el & — )
A Y = f(x) w2k 7@ @ebe X 76 G o 9w o [(x) <
[T 7| = —
(ct) O
(b) 3
fc) ]
(d) 2

4.  One root ol a quadratic equation is 2 and sum ol the two roots is 0, the
cquation 158 — 1
A6l [Zare TR @B YE 2 SiE IE qoE G 0, FHIEEnl 29 —
o= fh faare wTecee ol g6 2 @ g7 ¢6a @iskeR 0, FEaet 2a —
fa x*+4=0
(b) x"—-4=0
() 4x —-1=0
d) x*-2=0
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AABC is an isosceles triangle in which £ZC=90". If AC'=6cm, thHen

AB = 1

Ul

© ABC &b #atzale fqge z-rt £C=90". 971 AC =6 (&, (sfsal AB =
ABC @ Fmigare fIgeg @4 £C=90". 9 AC=6 @i, iZ= AB;
(a) 6y2 cm (c&fL.) (Fifi)
(b): 6cem (&) (GLh1.)
¢) 2v6 cm (¢&FL.) (¢ifdl.)

([d) 42 cm (c2fL) (GL.)

6. The mid-point of the line segment joining the points (-6,5) and (-2, 3)

a
is (5)4J, then a= 1

wl|e

(-6,5) i (-2, 3) el @ves agfy [ ,4J T, ad9 9 W T =

,4]‘9:‘@, ad W[ TE =

w|a

(-6,5) &R (-2, 3) g AE@EW @=Ea A4R_Y [

(@) —4
(b) —12
() 12
(d) -6
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7~ Valuc of Sim‘)t::-::vs(gili}r = t‘})+ cosﬂsiu(QD” —-{)) is — 1
sinr’)cos(ﬂ[)" -0 ]4 cos ()5511(90‘ - ()) q 0T 9 —

sinvcos(90° —0 )+ cos 0sin(90° - 0) a7 T T —

(@) —1
(b) O
() 1
(d 2

8. If the altitude of the sun is at 60°, then the height of the vertical lower
(hat will cast a shadow of length 30m is — 1

04 Tafe 60° 204, 30 fF Trdia o T w4 TETd ¥ Bl Tel T9 —

ad
I“ "
il

sats 60° =A, 307 Tardie wal SesiE G T BrEd OBl o[ —
(@ 15m (F), (i)

(b) %—gm (&) (Bl

(c) 152 m (fit.) ((+.)

(d) 30J3m (B) (F)
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If the circumflerence of a circlé is 44 cm, then its arca is —
5l g& #ifafd 44wl =, TWE S e —

mﬁ qrea “iafE 44 @rAL oA, 93 TR 2 —
() 276 cm® (mfi2) (Cif?)
(b) A4dem®  (&FL2) (@Lhi2)
() 176 cm® (@hr2) (FLA.2)
(’r_i} 154 em® ((mhi2) (@E.FL2)

10. The volumes of two spheres are in the ratio 64 : 27. The ratio of the
surface arca is —

Bl (sllFa TEEaq SRAle 64 027 | FEen e e 2 —

%G sliFicre HTerEE 7S 64 0 27 | S FJYyifeE TS A —

fa] 1:2
bl 23
fc) 9:16

© (d) 16:9
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1'1 The median and mode of a data are 33 and 45 respectively. Then its
mcan 1S — 1

T R B 1 | 0 7 o e 1 R e o A - e o O L T e

G5 TLE WA AR qeeie qUEE 33 GAR 45 ZA, W WA —

(a) 30
(b) 33
(c) 27
(@ 35

A number is selected from the first 100 natural numbers. The probability
that the number is divisible by 7 is"— 1

2 100 B el 7R 241 <51 7| (74l €5 | TRAWG! 7@ Meien @aE Agikel
oo —

49 1007 Zrefs Al i 9o T/ @ w1 A 7 5k fer zena
TEifTe! oA —

@ o
B oo
@
B i
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SECTION-B —

3. Prove that 3+ 2~.vr5- 1S irrational.
o T (A 34245 GeifcE |

. BN FEA @ 34.245 SREW

14. Find the 20th and 25th terms of the AP - S8y X8 TR sanuiens
s 25 3, 8, 13, 18, e F 20T ¥4 25€T 2 Y5 TEEA]|
wHizg 29 3, 8, 13, 18, ............. & 20T G982 25 2 o @ Tl |

15. Find the value of k, if the following points are collinear :

&7 {4 (@25 @A T0E kT AW ShEe ¢

e FvelE o A k- w9 @F 9@ e

(7,-2),(5,1) (3, k)

16. Given sinAzg, find cosA, tan A, cot A and secA.
&

fwal =ItE sin A :%, cos A, 'tan A, cot A % sec A TiFAEA!|

(e =z SI-IIAZ%, cos A, tan A, cot A €9 sec A E4 FAl|
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1%: Prove that : ' .- 2
O 2 A
KA R i B A 4

cos A i 1+sinA
1+smA cos A

=2sec A

18. Show that — ¥,
(el (& —

mdie (@ —

5in30° +tan45" —cosec60” 43 _24./3
sec30 + cos60” +cot45” 8 5

19. A lot consists of 144 ballpens of which 20 are defective and the others
arc good.. Nila will buy a pen if it is good, but will not buy il it is
delective. The shopkeeper draws one pen at random and gives to her.
What 1s the probability that : 2

(i) She will buy it ?

(i) She will not buy 1t ?

14451 F=C7R 23] <= 3[I AEFCEATE 20T FECA (@8l T0E D AFIEE ©lF | 1L G5
e TR Az 2 o T OE @ T FEe | (REIE I S| Gb
A =R iz e | sl & as

(i) ©Z 9uhl [y

(i) ©i% a2bi Wit
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144 5 a=icoiea wsfG gear 2010 Tl <iale] @@ SR e sis 1= 9 b HFTAT
e A (A SIF 28 @R ARiel e Faw A qmia sfegeed e et
a7 a1 @ fesael & @

(i) 3@ Ay

(i) = @ o= e
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SECTION-C

20. Obtain all other zcros of 2x _3x° - 3x% +6x -2, if two of ils zeros are

J2 and 2. 3

2t 343 — 332 4 Bx — 2 F A GBIEAE W SEedl, A L@iE 1ol XA 2 S

_J3 w

ot - 3x? _ 3x2 4 6x —2 &7 GARKT FAGCEA] <F €F FEA, A G wiB % /2 =R

_J2 =
21. Solve the following pair of lincar equations 3

oo AfeRE e AN |
s A AT EaeraE AR A |
4x+9y =5, 3x-5Sy=39
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52. Find the roots of the following cquation :

oo STEEhE gal el F=

msa siandfba 5@ fadm e

x*-3x-10=0

Find the naturc of the roots of the following quadratic cquation. If the
! 3

real roots exist, find them.

o

wers T faare AT@ACToE T 2 fadfa ==l s arEa TF AT (e e
e faars Eemdse ToE@ gt Fef Sl wfi; drEa A AT SIZE @ FE

2x? -6x+3=0

or / 9l / Sl

sum of the areas of two squares is 468m? . If the difference of their
perimeters is 24m, find the sides of the two squares.

w51 aofa i Ao 468 .2 1 4l @l ghR ARSIE AT 24 FL 2 (SR 4sf
uhi4 iz Wg TiEeal | '

S s ifm caioreR 468 /&7 14l el o7 AR Sl 24 =, stz a9 1i6a
e i R FEi |

B16-GM (EN/AS/BN) (11 Contd
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24. How many terms of the AP : D 1T Bt .. must be taken so that
their sum is 636 ?

3

IR AN 2A9TSBE T8 636 #iRte o= G »w 5| skE 2

5 | Asninga 2sifeba w2 636 (rite == awzf o Frs ==

Or / =41 / @i=&t

A sum of .Rs.700 is to be used to give seven cash prizes to students of
a school for their overall academic performance. If each prize is Rs.20
less than its preceding prize, find the value of each of the prizes.

O3 FmEEE we-gd) e et crase medl AiFmEeE Al 35 700 5aE
ARG 719 419 2[FRE @ 51901 Lo 9 efSn] 2[@EEa 47 9[ SR reE 20 59 395
=, Oz e 2AfSrB) e e Fefa @

&6 AvrEicTe Be-Zraiva SitnE AlbE FrFere sirmEsE T @it 700 TRz s
A5 2jazE e =@ | 4w s mwicR o0 oF Sesmba (A 20 TR = =, SiEE
2f el ~r=iEa T=n Fefa =)

25. Diagonals AC and BD of a trapezium ABCD with AB||DC intersect each
other at the point O. Using a similarity criterion for two triangles, show
OA OB 3
that ——= : . .
g oC oD’ J

ABCD Gf#feas® AB||DC oIk AC Sl BD = §eta 774 o.zr*q— (2% (A |

OA _ OB

w5l foee @E A b9 L [ e @ — e oD
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ABCD Ti{zwitsa AB||DC €42 AC 94k BD 3 w6 #a72@ O fEre cwr w0

Terme = 2 OA OB
Vb =S CEFEIGT AMET <€ 4fagia E orElle (F !
= - '1 -

26. Check whether (5, -2), (6, 4) and (7, —2) are the vertices of a triangle.
If so, name the type of the triangle formed. 3

(8,-2), (6,4) W (7, —2) P2l @bl fagem Arifg e == 21 7 2,
(ETE (4= 4959 r—\..éw -;ra—{ Z'q O A Fel

(5,-2), (6, 4) @8 (7, -2) Fysf 9= fasrem T fg = & w1 =1 20
W =, wiEE @b @ dEEe fTeT wE, ©Fm A e |

27. Find the arca of the shaded region in the following figure, where ABCD
1s a squarc of side 14cm. : 3
WS firal ot wiivsifne wwemis wife Sfeal, ' 14 @fil ale ABCD @b w5y |
ﬁ"ﬁﬁ_m wivafre weeelba w1l (owawr) @@ =@, @A 14 GLEL A ABCD

=5 aslr=ea)
A 3
D &4
B16-GM (EN/AS/BN) [13]
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SECTION-D

Solve the following pair of equations by reducing them to a pair of lincar
cquations. 4

omid AT (A (&R ANEREcE weAred == ANEE = |

Corsa WAlaeEEE Al AT Fel[Ta @ ANEE =l |

B B ol
Jx Y T oJx \[g
or / 44l / =<4l
. = S ;
A fraction becomes 11° if 2 is added to both the numerator and

denominator. If 3 is added to both the numerator and the denominator,
. - ;
it becomes 5 Find the fraction.
e ot == [ ey s — el T— g = _
51 SIS AW w7 T = wonte 2 79| 2 (SrE SHEHID % | 2 = =

5 S
74 Tears 3 @l F4a = S o FTan BTl z | SsilesTh] Bl e |
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b Bl A TR @9 2 e A 2 @l T, ol euiel =

F1 QR T TR AE 3 @i w4t 73, e s % | B e aa)

i

29. In a right-angled triangle, prove that the square of hypotenuse is equal

to the sum of the squares of the other two sides. 4

el Teegy, 296 e @ wfegeE a9 wi o1 A= ania @i 4 |

sl =zl & @b wEa) fegre wfvgra 25l @y 7% A anta e S

Or / G4l / G4l

ABC is a right-angled triangle, right angled at B. AD and CE are the

35

medians drawn from A and C respectively. If AC =5m and AD —-——E—m

find the length of CE.

s fass ABC a1 B 7@ AD W% CE @ A ¥% C 2f&| a4 | AW

AC =5 =& AD —3'—‘[ fl. CEA4 Tad faefa =11

ABC = WS fTenem B #=ewrl | AD &R CE = AT A AL CF (UF
=T TYEEE | 9w AC = 5 fal, @43 AD*EJ—_ [, wa, s CEA vy FefT =
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30.

Two poles of equal heights are standing opposite cach other on either
side of the road, which is 80 m wide. From a point between them on the
road, the angles of elevation of the lop of the poles are 60" and 30°;
respectlively. Find the height of the poles and the distances of the point

from the poles. 4

BT 80 F/bI4 9%5 %A YRIRHE HellF TpeE 701 4o ZrBita FBIE ge=sT oz fory

fr e | wrers 35 yomE wier fae aBim =i = Wb Ta B Bl AT 60°
30", 4t yor Bwel Wk 25 yhi =i s were e =

a6 80 b el ArEE s A SweE w6 6 9 wmifoa et 2y
vifeta =i wizia 4% w'Ba g« ip fe e 46 w'loa Miefa Safe @ ez

60" R 30° | 46 ¥T5a Twet @ 4B wiHa ceor faqiba wag @ =)

Two tangents TP and TQ are drawn to a circle with centre O from an
external point T. Prove that P =200 4

a6l ARy T4 2@ O (wure @Bl gEE TP @ TQ TSI7 ==j=[e= Bl & | 27 I
@A £LPTQ =2 Z0OPQ.

GGt “fZzf T2 e O e gal € TP R TQ Y16 == Blefl T 1 2is1ie] =sray
(A £LPTQ =2 ZOPQ.
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Or / 944 / 44l

In the following figure, XY and X'V’ are two parallel tangents to a circle
with centre O and another tangent AB with point of contact. Cintersecting

XY at A and X'Y'al B. Prove that ZAOB=90 .

e Bas O @3E 987 XY U4 X'Y' TOF FEae < UF {7y C S =k
T 7% AB. (T XY S AT U X'Y'S BT 05| 999 #4 @ LAOB=90".

fisa Bra O @wde & XY R X'Y' T FEeE 20 g =fieq C-(T
v o=ff 2opfE AB B XY@ A @R X'Y'(F B-(S (%1 <& | 9= <0l @

S AOB =907,
X{ P A }Y
- O
(&
RS >
X C B V'

32. Construct a tangent to a circle of radius 4com from a point on the
concentric circle of radius 6 em and measure its length. Also verify the

measurement by actual calculation. 4

6 (2fi AHiaa QFra{Es enE <6 FTa a4 @l amEs geE e s
U A CFR G FTE AT SRR T e a4 |
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33

’ . § Fa ) = ‘-( 5
6 o[, < da et 7aba b @y A 4 CLAL AT T€ AL S0 T2HEF

G Wil S1e | S 2GRS st Al (T2 [iel AT

SECTION-E

A tov is in the form of a cone of radius 3-5cm mounted on a hemisphere
of same radius. The total height of the toy is 15-5cm . Find the total

surface arca of the toy. S

GBI =l A GHAGTE B WE s Soae 3 -5 (gl METETE Al =P olfFe |
Sesithi Y5 Tl T 15-5 (Bl Aenlthia 95 #poele fefa @)

=B ofes TET MRAIETS Gl Gl eetEd 3 -5 LA aiidye 9 =i5ee
sifore | ZfosGd (16 Oei 15-5 (/5| 2gsta (G e (cwazes) Fefa s

Or / &Iz4l / =41

A cvlindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap of

sand is formed. If the height of the conical heap is 24 cm, [ind the radius
ancd slant height of the heap.

32 &l e U 18 L geiE G2 @B e wigfen [l wifFa #te wins)
G2 B! TBE AR =118 Bl =i aipfea wa e 27 | «isg wigfien W= Twe
24 (& [, T, <KW WEE G4 (2 T Felm = |
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. 320 T @x18 LAl SR e Rl I Bl wrgfer At Ao z
W1ﬁaﬁ%ﬁ?ﬁtﬁﬁnﬁwm'@_mﬁmwaﬁzﬁiwmmﬁa
Tl 24 A, ZeA, =ga e v el Twet fefa @@

34. If the median of the distribution given below is 28-5, find the values of

x and y.

| Class interval :

0-10

10-20

20—-30

S

30-40

50 —-60

Total |

] Frcqu_ency

o

X

20

15

S

60

== faereEE wunl g 285, (908 x U@ y 3 W e
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